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Part One
Multiple Choice (30%)
L/'/ '11'Im Wheat Committee proposed the creation of:

the AICPA
1e Accounting Principles Board

i c—} the

~L [@mc Financial Accounting Standards Board employs a "due process” system which
. 15 an efficient system for collecting dues from members.

interested parfies to express their views on issues under—"

iftes on Accounting Procedures.

b | enables
consideration.
A 1dr§nt:ﬁ=5 the accounting issues that are the most important
=" d. 15 an efficient systern for dealing with the AICPA.
el _
ich of the following is & publication of the FASE:

Technical Bulletins - .

L@u FASE pronouncement that deals with accounting on new and unusual financial
ansactions that need to be resolved quickly:

a. Practice Bulletins
Financial Accounting Concepis

"“:@ selects the member of the FASB and overseas FASB a::t;wl:lc.s
-~ 8. Financial Accounting Standards Advisory Council
Financial Accounting Foundation -

ounting Standards Executive Committes.

1:| Ame qg‘.p Accounting Msamaliun

[@fﬂm:lmess is an ingredient of the primary quality of:
Relevance Beliability
HNO

a. NO

YES YES

YES NO
YES




.‘-'__.-“'@/hiuh of the following statements is an objective af financinl repariing?
a.  provide information that is useful in investment and credil decisions.
b. pravide information sbout enterprise resources, claims 1o those resources, and
changes to them,
c. provide information that is useful in assessing cash flow prospects
o d>3 all of the above.
L . |
:ll{ﬁ'iu most authoritative category of generally accepied accounting principles is:
77" a. AICPA Practice Bulletins

b

AICPA Aceounting Guides
APE Opinions_,
PA Acéounting Interpretations. . i

- —— 9-Comprehensive Income includas:
i. inlerest revenues.
r | unrealized holding geins on investments.
= c.N\owners' investments
d &and c
J aand b

by
& 3
T

increase in net assets arising from peripheral ar incidental transactions is called a{n)

11- Which of the following is true shout intraperiod tax allocation? '

a. it rises because cerisin revenue and expense items appear in the income statement

either before or afier they are included in the tax return.

Its purpose is to relate the income tax expense to the jtems that affect the amount

f tax.

rpose is 1o allocate income tax expense evenly over & number of accounting
periods. ;

d. It is required for extraordinary items and cumulative effect of acco unting changes
but not for discontinued operations.

|2- Loss from fluctuation of foreign exchange is classifed as:
8. extragrdinary losses
discantinued operation loss
LY. other non-operating expenses and lasses
d. chrijulative effect of a change in accounting principles

13- Reversing entries are made for the following adjustments except:

& accried revenues

b. mocrued salaries

all prepaid items for which original transaciion was debited or credited to an
XPEnse or revenue, -

démrecialion,




14- 11 an I-I:|J usling entry lo record deprecistion is nol made, then:
asscls are understated

) assels are overslated Ly
€. ers equily is understated. R
d. expenses are averstated. M
15-In nrdur 10 be classified as other unusual glht or loss, an event or & transaction should be:

unusual

b. nfrequent
nusul! or infrequent
| and infrequent

v
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art Two (15%) ,x'

Sy
Siate the neccounting assumption, principle, information characteristic, or constraint that is
most applicable in the following cases.

?:2'"7"14{ All Fﬂ]"mﬂﬂti Jess than 25 are tkpﬂn;ﬁﬂ' gs incurred. {Don'i use conservalism) __F
Mok marakity - oo strad

ampany l-'n‘lplurs IJ'u: same inventory valuation method from period to period.

i

LL&il‘uﬂﬂ_ncpgic‘ﬁ ,--"'"f’
‘__:1_._ A patent is capits)ized and amortized over the periods benefited.
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\?wﬂt.:mding inflows at the end of production is an n[InWabF: exzeption in some cases.
[ use indusiry practices).

M{ Li.m_fdm:" /

ality of Inf'nrmllml that confirms users’ :nr] or expeciations

2

F'markel value in certain situation.

10- Rulmnn!: wh_-r' pllnt assets are not reported at I;quﬂmnn value {don't use cost

T




Part Three
bl I

Glebal Graphics Company was organczed on Junuary 1, 202, by K Jay, AL the end
uf the first 6 months of eperations, the tial balsnce contalmed the lodlewing sczuumis.

Thehits Lredily

Ciahy 59300 Motes Payuble 3 17,000
Accounts Receivohi= Lal Ory Accounis Poyable 2000
Equipment 45,000 Till Jay; Capitod 35,000 i
Insurance Esprnse 1,800 Graphic Revenue F2 104 ;
Sularies Expense 30,000 Consultig Hevenus &,000 '
Supplies Expense 3,700 =
Advertising Expenss 1.500
Res: Expense 1,500 -
Utilities l"_'lf_adm 1,700

F10%, 100 !]ﬂﬂllm

Anaiyess reveals the following additonal daca, .
L The 53,700 balaoce i Supplies Expense represents suppties purchused in January. At June
30, $1,300 of supplies was on hand. e
1 The sote payable was issued on Februgry 1. Jt is 8'12%, 6-month pote,
i The balance in [nsurance Expense @ the fremium on 3 goe-year policy, dmd_!_-_lﬂii.

3002
«"Cansalting feey sire credited 1o revenue when received AL Tune 30, consulting fees of 51,100
are ungarned. : et

3 Graghic revenue camed bo unbilled ar fine 30 poals 32000,
& Depreviation is £2000 per year = ==
——— a
Inuracriony
Journalize the adjusting entries st June 30, [Assume adjustments are recorded every 6
T

manths. )




Problem #3

Farmer & associzles maintains ils records on the cash basis. You have engaged 1o convert its
cash hasis income statement to the acerual basis. The cash basis income statement, along with
additional iulfprmation, lollows:

Farmer & Associales
Income Statedient {Cash Basis)
Faor the ¥ear Ended December 31 ,Jﬂ_’q;!___h

Cash receipts from customers _515_1:5_929':)

Casth payments:

Operating expenses 255,000
Inierest expense 25,000 280,000 g
Net income 170.000

Additional information.

Janusry 1 D
Prepaid insurance 54,000 - 28,000
Accoupis payable (gelate to operations) 10,000—no 17,000
Unearned revenus T 0y 20,000
Accounts receivehle e O 35000
interest payable 2000 5,000

Accumulated depreciation

il

65,0007 = _,> 88,000
No plant assets were sold during 2003.

Required:

Canyerl the cash basig income statement to the accrual income statement. (Show supparting
caleulations),

-_____-_-—-——-_..

F=teeo
Sl

Bicivins "y R
Pl ny 1{':.m!kn4m_- G‘IJ‘A PE'%T“J ﬂ?ﬁj’&m‘a !lltl:\&ﬂ PI-TFL"'-I;?H-.TJ;..{&\%

Y - L 5 e
,pﬂﬁ SN g p s T

R‘-ﬁw ; m o
; \&ngm::d
o

——

e i u.-.'{-’LJ J::r-*.ﬂ..-':- . {_‘_;...;f., thcari{»\f—iﬁn

=  %ioms Urewr
w1 ies "5;'9‘::‘{3 _ gbﬁk} o Et

s dpEmn 3 Owln g4



Problem #3:
Presenied helaw is an income siale

ment for Larsen Company for the year ended December
31,2002
Larsen Conipany
Income Stalement
s E m 2
Mel sales 900,000
Cost of goods sald
Girogs margin F230.000
Selling, peneral and adminisirative EXPEnSES - = (70,000} —= W,
Income (rom operations ~ - S 180,000 q“ﬁ ” ‘Fﬁ"'
XK Othernetlosses (2 A1y e}, Lo o—011 o0 ©Coo

Income belore taxes' - gt $169,000
Incame tax (40%)

167,600}
Met income

- “Selling, general, and administrative expenses” included a usual but infrequent cha
$6,000 due to a loss & the sale of land. = J

22y “Other net losses™ <gnsisted of interest revenue, i?ﬂﬂ%nd an extraordinary loss of
316000 - =TT e ! =

3. On Janoary 1,2002, Larsen changed from strzight line to double declining balance methed
of depreciation. The effect of the'Thange is as follows:
Total depreciation in prior vears if computed using:

Straight line

32,000 Iy =t
] Double declining GE&_D{‘ ¢ O
4- Larsen had 200,000 shares of eommon stock outstanding during The year. los ¢
Required:
Using multiple step forna

L, prepare a corrected income statement, including the appropriste
per share disclosures,
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P
Pregented below is certain information pertaining to Gordon Company

Mssets, January | £230,000
Aszets, December 31 230,000
150,000

Liabilities, January |
Commean %Ei;q:mh:r.‘:‘l—_ == ; IS T 1. 11 1111 18
Retined earnings, Dmamber,%—:——"‘—'—"_gﬁﬁiﬂ e_ﬁ_
Common stock sold during the year ——— ¥5 I:Iﬂlir__._-,

Cash dividends declared during the year CE 000~
Stack dividend declared and distributed | ff:%

Compute the net income for the year. (show organized caleulations).

Answer,
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